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T 39T :
(G) T TT-UT AT I A AR E - ®, G KT
(i) 9 F T9 o % o AHaE §
(iii)  OLIda & 9T 9T G K T F G FE TH GT §T A8 |
(v) & 3979 & g4 9y & 3R % & WF | e |

General Instructions :
(i) This question paper contains three parts A, B and C.
(i) Part A is compulsory for all candidates.
(iit) Candidates can attempt only one part of the remaining parts
B and C.
(iv) All parts of the questions should be attempted at one place.

T &
(ENVHT TSI, WEEH WAl dgr wwWal & o Saie)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

1. 9 & YHfa & ER W I= a9 fw-g ¥ =R 99k |
Distinguish between ‘Subscriptions’ and ‘Specific Donations’ from the
point of view of ‘Nature of Income’.

2. IR @ FA 8 F YIS U F 153 feT o fAfvwa ufer @ smewr dar @, q
I F F VY W A & IReve 3q 71 Ay FAW 2
If a fixed amount is withdrawn on 15 day of every month of a

calendar year, for what period will the interest on total amount
withdrawn be calculated ? '

3. TS ¢ UEER 3N 94 W9 % 99 @G & AU veH YaE & ERU # I
T |

State the reason of contributing for goodwill by a new partner at the time
of his admission.

67/2/1 2
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4. TR 99 GEEd W F faged ¥ oFw W 3K uw fag I 1

Give any one point of distinction between dissolution of partnership
and dissolution of partnership firm.

5. ‘sfu-afEr & ad a2 ' iy

What is meant by ‘Over-Subscription’ ?

6. fmfafed ¥@ ¥ 31.3.2011 & ¥9@ T a¥ & faw =I=< H U F MM
FIT '

af ¥y == : ¥ 2,85,000.

31.3.2011 &I 3" ==<7 : T 9,000.

31.3.2011 &I 319 wra == : T 7,000.

1.4.2010 & 3=T == : ¥ 12,000.

1.4.2010 & M w =<7 : T 8,000 3
Calculate the amount of subscriptions for the year ended 31.3.2011
from the following information :

Subscriptions received during the year : ¥ 2,85,000.

Subscriptions outstanding as on 31.3.2011 : ¥ 9,000.

Subscriptions received in advance as on 31.3.2011 : T 7,000.

Subscriptions outstanding as on 1.4.2010 : ¥ 12,000.

Subscriptions received in advance as on 1.4.2010 : ¥ 8,000.

7. T fA. 7 98 fA 9 T5,00,000 F TG FOwF FA | ST AR F 50% TRAA
T%. fa. 3 o T s faf o @ Eer w1 5 T St A9 9 IvEe <
a1 | N TR F PE T 10 TIF & guar 399, R 25% F sAemy | fifa
far mar o, & g0 fwam o
I A & AU e, . # el § sevas I yawE S | 3

X Ltd. purchased machinery for ¥ 5,00,000 from Y Ltd. Half of the
amount was paid by accepting a Bill of Exchange drawn by Y Ltd.
payable after three months. The balance was paid by issue of Equity
Shares of ¥ 10 each at a premium of 25%.

Pass necessary Journal Entries in the books of X Ltd. for these
transactions.
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8.

foom @t fa. 3 % 100 Y% % 10,000, 12% R, 5= % 70 Sfq Foos
e W faifaa & o, & forg smaeq smfaa fee | qof afer & e sees
T T 4 | |

13,500 RO % AT SEed W gY | 3,500 FOGH & fow e @ w® %
fean mon Qo emae fYr aftg &R @ T | U SASH HI KOG H @A F
fan & |

fas ot fa, & Twiel § STRE oMol & O STERE® UsHmE SafEar ST |

Vijay Laxmi Ltd. invited applications for issuing 10,000, 12%

Debentures of ¥ 100 each at a premium of ¥ 70 per Debenture. The
full amount was payable on application. '

Applications were received for 13,500 Debentures. Applications for
3,500 Debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applications.

Pass necessary Journal Entries in the books of Vijay Laxmi Ltd. for
the above transactions. :

T T WY TH GH A GG A S 5: 3 F UG H A ded 4 | 1.4.2010
F IE R OS A s o ;g € 80,000 T4 W T 1,00,000. IR ISt
W 12% 3G a¥ F X J qA FEWO W 15% T 99 F R T FW A FH

 fofa fFar 1 31.3.2011 & T gT &Y & AU SwWe o wEESE § @ WA

F AT T 14,040 @1 | F¥ & A G TA WY kB FHAIE T 6,000 T

710,000 & | O TR R W Twid gC G g e & er-gt e

@Il dAR HST | BE A g g @ gen F ot gt W s feam S |

Suresh and Ramesh were partners in a firm sharing profits in the
ratio of 5 : 3. Their fixed capitals on 1.4.2010 were : Suresh T 80,000
and Ramesh T 1,00,000. They agreed to allow interest on capital
@ 12% per annum and to charge on drawings @ 15% per annum. The
firm earned a profit, before all above adjustments, of ¥ 14,040 for the
year ended 31.3.2011. The drawings of Suresh and Ramesh during
the year were ¥ 6,000 and T 10,000 respectively. Showing’ your
calculations clearly, prepare Profit and Loss Appropriation Account of
Suresh and Ramesh. The interest on capital will be allowed even if
the firm incurs a loss.

67/2/1 4
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10. 9, @RIV R WA WRER § ST A # 3:2:1F gy ¥ fawfs &
? | g ¥ wfd # 9o T 1,80,000 fE@T g3 R | TRAV STEHNT TRV Al
2, q91 3% IFHV TV Id THY WG F OIS T 2,52,000 | fEET W=
21T qq R ofgm F A R 2: 1% U@ F AWl & & vl o
g | TREU & IS M FA & a1 Yed g F @ T 1,20,000 3N | @AM
F d@ied qar ol & famer & fau smEvEs UsamEn wfafar wifse | s

TR S WY ®Y ¥ TR | 4

Ram, Laxman and Bharat are partners sharing profits in the
ratio of 3 : 2 : 1. Goodwill is appearing in the books at a value of
¥ 1,80,000. Laxman retires and at the time of his retirement,
goodwill is valued at ¥ 2,52,000. Ram and Bharat decided to share
future profits in the ratio of 2 : 1. The profits for the first year after
Laxman’s retirement amount to ¥ 1,20,000. Give the necessary
Journal Entries to record goodwill and to distribute the profits. Show

your calculations clearly.

11. 3 R ¥ T 1,00,000 ¥ 12% FOTE F W @ FOiE fa@r | 39 260,000
& R F G a9R ¥ T 95 3fd RO R W wA fEA | &S RO
9 g T 100 o1 | I T 40,000 % FUIGH 1 wed @rg ¥ § R m@ | s
T NS WeF FY H ESH A [ § [aa & o gem #
RO & WET & AU F H QR F ARSI Saredr fiee | 4

Ajanta Ltd. decided to redeem I 1,00,000, 12% Debentures. It
purchased ¥ 60,000 Debentures from the open market at ¥ 95 per
Debenture. The face value of each Debenture was T 100. The balance

of ¥ 40,000 Debentures were redeemed out of profits. The company
has already made a provision for Debenture Redemption Reserve in
its books.

Pass necessary Journal Entries in the books of the company for the .
redemption of Debentures.

67/2/1 5 P-T.0.



12. frefafe dacHl & fau oEiew fa. @ @@ 8 evas Usamen sfafeat
FIfT

@)

(1)

Z 100 Y% & 9,500, 10% FOTTHI & IMEF 3= T 100 TI% & Guar 379l
T uftafda e & T | guar 9w e 5% & 98 W R T |

T 100 Y& & 440, 10% B & WET T 50 TS & AC 12% FOGE
¥ ofiafdd =& f6ar T | AT B @ 10% ey ) fifyd fear
T |

Pass necessary Journal Entries for the following transactions in the
books of Fairdeals Ltd :

(i)

(1)

Redeemed 9,500, 10% Debentures of ¥ 100 each by converting the
same into Equity Shares of ¥ 100 each. The Equity Shares were
issued at a discount of 5%.

Converted 440, 10% Debentures of ¥ 100 each into new 12%
Debentures of ¥ 50 each. The new Debentures were issued at a
premium of 10%.

13. W U . TF W & WRQR ¥ T4 3 : 2 FH U H @9 ded ¥ | 31.3.2011
& 3 fafa fgaor fe s o

31.3.2011 &t 4, aa1 ¥, & Rafa faawor

qfar afer

et 3 TeafEr z
GSft - et 80,000
d.: 80,000 4| T waq 80,000
. : Z70,000 1,50,000 | 1% 60,000
GRS 50,000 | SR 40,000
e afegfa ffe 80,000 | 3% 20,000
2,80,000 2,80,000

1.4.2011 & wd & fawes & w0 99 gwiE @ ARt & e e
g3

(1)

67/2/1
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(i) &g 9 =i & T 50,000 § 7 %7 o |

(iii) wmfora €& F=OT 5,000 & |
(iv) @fd q F8 Ff < & gam |

(v)  &HER &fagid gem T 80,000 &1 |

T & UMY & fau EvEs UsHmEn sfafear SN |
P and Q were partners in a firm sharing profits in the ratio of 3 : 2.
On 31.3.2011 their Balance Sheet was as follows :
Balance Sheet of P and Q as on 31.3.2011
Amount Amount

Liabilities 4 Assets 4
Capitals : Goodwill 80,000

P T 80,000 Land and Building| 80,000

Q : ¥ 70,000 1,50,000 | Stock 60,000
Creditors 50,000 | Debtors 40,000
Workmen Compensation Fund 80,000 | Bank 20,000

2,80,000 2,80,000
The firm was dissolved on 1.4.2011 and the Assets and Liabilities were
settled as follows :
1) Creditors agreed to take over Land & Building at a valuation of
their full claim.
(ii) Stock was taken over by Q at ¥ 50,000 for cash.
(iii) Bad debts proved ¥ 5,000.
(iv) Goodwill was found valueless. .
(v)  Workmen compensation claim was ¥ 80,000.
Pass necessary Journal Entries for dissolution of the firm.
67/2/1 7 PaE.O,
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| 14. 31.3.2011 & ¥« TC a9 & fou FEfas @ & Td T PAE @
fr=fafaa é :
31.3.2011 & 9@ g ¥ &1 Wid T FAE Grer
aH STET
, Uil T
Titaat T | e N
Y M AT 9,700 | 377 (Fad 8 HEH FH YIAH) 12,000
R 23,700 | fetrar 5,600
FENIN 12,300 | fastelt (37t =¥ & faw ¥ 400 wfEwfed) | 4,400
TE 8,300 | fife qar Lol 900
& & feRan 2,900 | T 41,000
(X 900 ar a9 2011 —12)
faasit =1 fosrg 15,400 | 9% TR 51 (31.10.2010 =) 4,000
(%1% 79 X 16,000)
Y I A 4,400
72,300 72,300
S AT 9 PIAE @A H OFeEd § 3 W6 @l daR FIT | 6
Following is the Receipts and Payments Account of Shivalik Club for the
year ended 31.3.2011 :
Receipts and Payments Account for the year ended 31.3.2011
Dr. Cr.
Amount Amount
Receipts 4 Payments %
To Balance b/d 9,700 | By Salaries 12,000
(paid for 8 months only)
To Subscriptions 23,700 | By Rent 5,600
To Entrance Fees 12,300 | By Electricity (includes 4,400
T 400 for next year)
To Donations 8,300 | By Printing and Stationery 900
To Hall Rent 2,900 | By Books 41,000
(X 900 for the year 2011 -12) ;
To Sale of Investments 15,400 | By 9% Fixed Deposit 4,000
(Book value ¥ 16,000) (on 31.10.2010)
By Balance c/d 4,400
72,300 72,300

Prepare Income and Expenditure Account from the above Receipts and

Payments Account.

67/2/1




15. w.ﬁmaﬁ.wmﬁ%q@m%amzzlﬁﬂmﬁﬁmaﬁﬁﬁl
31 W™ 2011 & 399 g foemor = w&oR @1

31.3.2011 & UEH, 91 a3, @1 fewfa faawor

LUN qfer

gt z grgfaam L K
gaq FI % g waEe 250 | I%g 18,250
faferer @R 59,000 | &R 15,000
Ot @ =i 32,000

T ;27,000 9 & o= 30,000

aE. ;% 18,000 45,000 | T-gIF B . 9,000

' 1,04,250 1,04,250

1 38 2011 & fr=fafed wdaf W S, & WEER S99 T o

F) im%mﬂs,oooiﬁﬁ ST a9 @A & T T 6,000 F T
T, 9@ e 9 e, @9 9R. e e |

(@ T F fovg &6 & s @ & duEA 2, 9% fau T 1,500 F yEEE

Crc i

(m faseht =9 & 2 1,300 & T o & @ q@ fmE omEn, g9 fow ened

EUE S @ |

(@) ey = F AT IR F 5% F TR TEEH T 7

(3) fafm oeRi # wfwfad T 1,200 FF TF 7 & TIAE T80 FET 8, 37

b ¥ oo i
g aTufeifiad & 2 |

-mw@ﬁ%mﬁﬁg.ﬁqﬁ%aﬂwmm.wa@.aﬁqﬁw
s feafq STgaR Uk A 3 UFe F PTAH Hh FT 8 |

T WA, SRR % T @| g 7w s el e dar S |

67/2/1
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AR, TH. O41 TA. TH GH & GoGR & @1 5: 3 : 2% UG H @9 sied 4 |
20 e 2011 F FEER AR, H W@ @ T4 | 39 oy i v @ fefs fGEwr

f=1 R ¥ o1
RUN LUN
oAt 4 Frgfear T
3 | ERIES 41,000
R : T 12,000 | wHR 6,000
W 216,000 wis 9,000
T, : T 10,000 38,000 | SR 15,000
AR F F=O 7,000 | TS ' 3,000
| = 20,000 | TG T 10,000
SEEL 19,000
84,000 84,000
YRl GO % IER, WEER # gy W IGH smﬁ@ﬁﬁﬂfﬁf@ﬁ%ﬁl@
FHER I |
@ O @@ w9,
(i) TR & TR qF SAQIEl & I EReT § gae WEer & am/Ee
S 39 S fEER 2
(%) TEIAT F T 45,000 T FHER H T 7,000 W AT qeHifhd fHAr
|

(@ Hfy =i F AT 10% F 999" SE@ 90 |

(i) ¥R & T Y& T F WER sﬂ%mﬁ%m.@ﬁﬁﬂﬁm
T S A 9§ T

iR @], SR & Yo @, . % SAUEHN H @l T TS, qAT TH.
& fefy e dar FIm safF 32 oo Ot @ AT oY eue § W
T FEEE FH A W@ W folg o @ ) R R e @ e @ WERR &
] @Al H WERRG #fear s

67/2/1 10
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edufitt' X and Y were partners sharing profits in the ratio of 2 : 1. Their
Balance Sheet as on 315" March 2011 was as follows :

Balance Sheet of X and Y as on 31.3.2011

. Amount Amount
Liabilities T Assets =/
Provision for bad debts 250 | Cash 18,250
Sundry Creditors 59,000 | Debtors 15,000
Capital Accounts : Stock 32,000

T 27,000 Land and Building 30,000
T 18,000 45,000 | Profit and Loss Account 9,000
1,04,250 1,04,250

7 was admitted to the partnership with effect from 15° April 2011 on
the following terms :

(a)

(b)

(c)

(d)

(e)

He will bring ¥ 15,000 as his capital for one-fourth share and
pay ¥ 6,000 for goodwill, half of which was to be withdrawn by X
and Y. :

There is likely to be a claim against the firm for damages, a
provision of ¥ 1,500 was to be made for the same.

A bill for ¥ 1,300 for electric charges has been omitted, now it is
to be provided for.

A provision of 5% on Debtors was to be created for doubtful
debts.

Included in Sundry Creditors was an item of ¥ 1,200 which was
not to be paid and therefore had to be written back.

After making the above adjustments, the capitals accounts of X and Y
were to be adjusted on the basis of Z’s capital. Actual cash was to be
brought in or to be paid off as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and
the Balance Sheet of the new firm.

67/2/1
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R, M and L. were partners in a firm sharing profits in the ratio of
5: 8 : 2. Partner R died on 20 February 2011. The Balance Sheet

of the firm on that date was as follows :

Amount Amount

Liabilities -4 Assets 4
Capitals : Machinery 41,000
R : ¥ 12,000 Furniture 6,000
M : T 16,000 Stock 9,000
L: < 10,000 | 38,000 | Debtors 15,000
Loan from R 7,000 | Cash 3,000
General Reserve 20,000 | Profit and Loss Account 10,000

Creditors 19,000

84,000 84,000

According to the Partnership Deed, on the death of a partner, the
executor of the deceased partner will be entitled to :

(1) Balance in Capital Account;

(ii)  His share in profit/loss on revaluation of assets and reassessment
of liabilities which were as follows :
(a) Machinery is revalued at ¥ 45,000 and furniture at ¥ 7,000.
(b) A provision of 10% was to be created for doubtful debts.

(iii) The net amount payable to R was transferred to his executor loan

account which was to be paid later.

Prepare Revaluation Account, Partners’ Capital Accounts, R’s
Executor’s A/c and the Balance Sheet of L. and M who decided to
continue the business keeping their capital balances in their new
profit sharing ratio. Any surplus or deficit was to be transferred to
current accounts of the partners.

67/2/1 12




16. 7@ fa 3 T 10 ¥3F F 30,000 FHar 3R F T 30 ¥ 3w F fgw | i
A F fau e smwfaa R | ofer & e e TER § & o
FEeT W T 10 ¥ 37w (% 8 Wifraw wfew)
e W T 12 wfa 3f9r (T 9 Nfmm wfed)
Yoq Td S e W — U

27,000 391 & foaU smEeT W@ gw | FeAT HO R W oqwm g ww & w6
fgar fear & 3,000 3 & B, o s ufer o yom wd Hf<H A=A
e &1 am T fer, @@ fReR 99 s 2,000 3R W owgwW wd i<W
AT HOPEAE AE R | e g fReR & 3l & oS w fern M | S
fow T s ¥ ¥ 4,000 3iEh, SAH fReR & it ofw wimfea 9, & T 17 9fa
o & i we@ ¢ frifag @ fear mar

IR A & AU T fA. S e § smaves I wfEfEE Sk |

Hgar

freg fa. 3 10% & ¢ W il 3 F T T 10 9% & 70,000 379
F AT smaeT smwfea e | f & e e oTeR ¥ F oo

&g W T 4 99 3w
Eed W T 3 qfd AW
I Ug A9 I W — N

80,000 37l & fau & @ gT | 5,000 3 & fau & & ® & fa

T qAT VY IMESH H SINOH SR W I F @A F e TN | A

W N 3 U & GuEieH e W g AR o e | W, e
1,500 39 & faw aacT far @1, 3 seed U &1 yam T8 A | e &
T UYEN, 39 I H W X A TN | I RN YW WE A< Al
ufer # M ¢ | W A oewEfed 700 W W wEW wE HfH A=Al UM W@ A&

T | 3Hh I & off S W foawm w1 S few g 1,500 iR T 13 Hfd
Iy # of wew g frife = feanr man | g frifie fw o sie § S &
Tt 3fy wiwfad 9 |

3T el & fau fre 4. F s # evEs JsHme SawE #ie | 8

67/2/1 13 P.T.0.
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Gupta Ltd. invited applications for issuing 30,000 Equity Shares of ¥ 10
each at a premium of ¥ 30 per share. The amount was payable as
follows :

On Application ¥ 10 per share (including ¥ 8 premium)
On Allotment ¥ 12 per share (including ¥ 9 premium)
On First and Final call — Balance

Applications for 27,000 shares were received. All the calls were made
and were duly received except on 3,000 shares held by Shiva who
failed to pay the Allotment and First and Final call money and on
2,000 shares of Girdhar who did not pay the First and Final call.
Shares of Shiva and Girdhar were forfeited. Out of the forfeited
shares, 4,000 shares were re-issued, inc]uding all the shares of
Girdhar at ¥ 17 per share fully paid up.

Pass necessary Journal Entries in the books of Gupta Ltd. for the
above transactions.

OR

Firdos Ltd. invited applications for issuing 70,000 shares of ¥ 10 each
at a discount of 10%. The amount was payable as follows :

On Application ¥ 4 per share
On Allotment ¥ 3 per share
On First and Final call — Balance

Applications for 80,000 shares were received. Applications for 5,000
shares were rejected and the shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications
was utilized towards sums due on allotment. Jonney, who had applied
for 1,500 shares, failed to pay the Allotment money. His shares were
forfeited immediately after allotment. Afterwards the First and Final
call was made. First and Final call was not received on 700 shares
held by Rommy. Her shares were also forfeited. 1,500 forfeited
shares were re-issued at ¥ 13 per share fully paid up. The re-issued
shares included all the shares of Jonney.

Pass the necessary Journal Entries in the books of Firdos Ltd. for the
above transactions.

67/2/1 14
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PART B
_ (Financial Statements Analysis)
17. e’ % fou foRg el % fyeme % qee @ Seor ST | o5
State the significance of analysis of ﬁnan01a1 statements to the
‘creditors’.

18. % TR faeRoT &9 IR W 8, Ieo HT | - Ty

State why a cash flow statement is prepared.

19. 5T TEAA F T XA AA & 2 | A
What is meant by Cash Equivalents ? it

120. S5 f. 1 AW UG 35 : 1 99 Werdl AEE 15 : 17 | AR WE W
. viaffaes # W9 ARl wg gefEl @ gERE ¥ 2 60,000 s €, @ W
mﬁnﬁwaqéamsﬁaﬁmaﬂﬁqi : 3
Z Ltd. has a current ratio of 3-5 : 1 and quick ratio of 1-5 : 1. If the

excess of current assets over quick assets as represented by stock is
% 60,000, calculate current assets and current liabilities.

21. frafafea goan § frefafaa 3§ 9 e ﬂaﬂmﬁfﬁmaﬁﬁm

(F) FO-HEAT AU
(@) wFEEE S e 3T,

(M e | yEE |

99l :

WWW?55000O WW?WOOO amaﬁr@maﬂww
W%m?woooo 9% FUH T 2,00,000; TFER < 1,00,000; qfH T
% 6,50,000; 3TER T 1,50,000; TR X 1,45,000; THE T 55,000 Tl FRIEH
=7 % 50,000. |

31320113ﬁmmgqaﬁ%ﬁ-rqﬁm?1500000mw50%3?{%311?11?
feram T ar | 4
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From the following information, calculate any #fwo of the following
ratios :

(a) Debt-Equity Ratio;
(b)  Working Capital Turnover Ratio;
(¢) Return on Investment.

Information :

Equity Share Capital ¥ 5,50,000; General Reserve ¥ 50,000; Profit
and Loss Account after Tax and Interest ¥ 1,50,000; 9% Debentures
¥ 2,00,000; Creditors ¥ 1,00,000; Land and Building ¥ 6,50,000;
Equipments ¥ 1,50,000; Debtors ¥ 1,45,000; Cash ¥ 55,000 and
Preliminary Expenses X 50,000.

Sales for the year ended 31.3.2011 was ¥ 15,00,000 and Tax paid
50%.

22. fr=fafad s faawr ¥ 31.3.2011 H 9@ g o & fou v fa. &1 & 99
FHR & 3 fgaer daR i

31.3.2011 ! TWTW g ¥ & fou s fa. @1 oma faawor

faazor qfer
3
:?HTi
fesha 30,00,000
= _ 20,000
F 3 30,20,000
i
EEREI CIC R 20,50,000
ST 40,000 |
e 20,90,000
BT 2,25,000

67/2/1 16



From the following Income Statement, prepare a Common Size Income
Statement of Jagat Ltd. for the year ended 31.3.2011 :

. Income Statement of Jagat Ltd. for the year ended 31.3.2011

Particulars Amount
3
Income :
Sales 30,00,000
Other Incomes 20,000
Total Income 30,20,000
Expenses :
Cost of goods sold 20,50,000
Operating Expenses 40,000
Total Expenses 20,90,000
Tax 2,25,000

23. 31.3.2010 9T 31.3.2011 & 3. fo. ¥ frefafeg Ry fewl ¥ I TR
faawor dar FifST

31.3.2010 @ 31.3.2011 & R.37W. T, & Feufa foewor

b, 31.3.2010 | 31.3.2011 31.3.2010 | 31.3.2011
Jgand 2 2 Fegfar z 3
Fuen 39 gt | 4,00,000 | 6,00,000 | TS 50,000 | 45,000
-8 @Al | 1,00,000 | 2,00,000 | T 6,00,000 | 6,00,000
& 2,00,000 | 1,00,000 | Fr —| 75,000
ST A | 80,000 | 60,000 | SEK 2,00,000 | 2,55,000 |
F A 40,000 | 70,000 | = 10,000 | 15,000
AR 60,000 | 45,000 | 3% 120,000| 85,000
8,80,000 | 10,75,000. 8,80,000 | 10,75,000

af H§ T 75,000 F T H HF BA | w9 F T W T 5,000 FOFH §F

o4 9T T 12,000 1 g™ <l & |
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31. 3 2011, prepare a Cash Flow Statement :

Balance Sheets of J.R. Ltd. as on 31.3.2010 and 31.3.2011

From the following Balance Sheets of J.R. Ltd. as on 31.3.2010 and

31.3.2010(.31.3.2011 31.3.2010 | 31.3.2011
Liabilities 4 3 Assets 4 x
Equity Share Capital 4,00,000 | 6,00,000 | Patents 50,000 45,000
Profit and Loss Account | 1,00,000 | 2,00,000 | Building 6,00,000 | 6,00,000
Bank Loan 2,00,000 | 1,00,000 | Investments — 75,000
Proposed Dividend 80,000 60,000 | Debtors 2,00,000. 2,55,000
Provision for tax 40,000 70,000 | Stock 10,000 15,000
Creditors 60,000 45,000 | Cash 20,000 85,000 |

8,80,000 |'10,75,000 8,80,000 | 10,75,000

Additional Information :

During the year Building costing ¥ 75,000 was purchased. Loss on
Sale of Building was ¥ 5,000. Depreciation charged on Building was

< 12,000.

17.

HET T

(Ao @)

PART C
(Computerised Accounting)

HFEARHA AGihT oF & Hedh T § 2

What are the components of computerised accounting system ?

18.

et T F el Fe F U ¥ TAS 3w gW fRwer wfafafie @ @ 2 1

What is represented by ‘fifth’ to ‘seventh’ digit of the code allotted to

an account ?

19.

‘THHRIHOT HT FT 2T 8 2

What is the purpose of ‘normalisation’ 7
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20. fRE Fopelsa @i SRead & T faRmarsl & §HesET | 3
Explain the security features of a computerised accounting software.

21, 5= @ ST SYCe SLELTA.UY. Wied® & 9 JaRC | SLATATE. & fH
T @l w1 R FuiE FiSY 4

Give the name of two commonly available DBMS softwares. Also
explain three advantages of DBMS.

22, THUH-URY ¥ IOT 99 & T G & € FHK & WO H A | 4
Write the steps of a query to compute transport allowance in
MS-Access.

23. (&%) frafafes g ¥ M o & W A WA FE & O wed W e
& MU HIST | T 1,00,000 F JA g4 dF 10% @ S I, T 1,00,000 F
e F TRM W 20% F R« F | (@ 909 €2 § Faifa)
(@) UTHd & 39 foxig @ (%) & 90 J0d gC TR S S At &
FAIH qod & AT H GHIAC 2 | 6
(a) From the following information, calculate the formula on Excel
for computing the amount of Dearness Allowance. When basic pay

is up to ¥ 1,00,000, @ 10%; for more than ¥ 1,00,000 @ 20% (Basic
pay is projected in C2).

(b) Name and explain the financial function of Excel which explains
returns of the present value of an investment.
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